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== | H7IY L RN a1g) | T34 | sminas) | BOMBT | wannar)
(EES HYVALE LA 5H(1)| AteH 7.4 | ~EH 8.9
AEES Jv A1 E LT HEERE  [16B0K)| ~EE 13.0 | ~&E 11.5
3 [Fx I A1E LT AmiER | 16B0K)| &L 9.5 | A& 8.5
EED EEE=P] BLUTEREIIAN | 18H(R)] ~&E 13.1 | ~&E 11.5
5 |F% EEE=P] ERLLITH RHRET 108 (K)| A~ &HE 13.1 | ~&HE 11.5
6 |FE 43 L hEH 10H(K)| AHH 12.6 | ~&H 11.6
REES 433 A= 2 el NIET 10H(K)| AHH 10.4 | H&H 9.3
EES FHAE BUmEEIZHE | 15H(&)] ~%E 10.8 | ~&E 9.5
9 |[FK FTHAE UM Hmile 178K FEH 11.9 | A% 10.7
10 |89 FTAHAE BE™ 218H(B)| A& 12.8 | A& 11.2
EES NTYA BB A ST 11E(&)| A &E 10.4 | ~&E 9.1
12 |Fx NTHYA BUmENEIEE |[25H(&)] ~%H 11.5 | ~&E 10.2
EEES NTYA B hEITHGRARS| 298 (N[ ~aE 12.9 | ~&E 11.6
14 |k GiFk. BE=kx®) |FHBEK B AEERAR| 298N Rgh 4.9 | ~MEH 4.5
15 [l -=D0CFE[AV=F FHA R/ \EFHT 1HN)| A& 11.9 | ~%&H 10.6
16 |- =0ciE | UTETY LR EMNETSFL [ 10H(K) 8.5 4.9 48.8 5.8
17 [IZE-F0E[E7UIXY BT 580N A @E 14.0 16.7 6.4
18 [ - =D CE [VET7UI XY [ERRMESEEAE 98 (7k) 9.0 7.3 72.7 12.7
ENNERED R APIEPEP) SEEAT 108 (K) 31.4 10.5 187.0 9.8
20 [IE -F02H[OIXD SEENT 158 (N) 9.0 7.2 65.3 7.2
21 [IE-F02H|[OI XD ESLLTERT 2 HEF | 14H(B) 9.0 4.6 53.5 A
22 |[IE-F02H|[OIXD ESLLTERT 2 HEF | 14H(B) 38.9 6.6 232.0 6.0
23 |[IE-F02H|[OIXD HAE =&FH] 8H (N) 29.9 11.8 151.0 10.7
2 |- FEQZFE[F X3 SEEAT BB A&E 12.9 22.5 6.0
25 [IIE-FEQZFE[F X3 Ll R 8H (N) 9.7 6.4 41.9 7.1
26 |- FQZFE|[F X3 A=A R ] 2B0K)| A &HE 14.2 12.0 6.7
27 |[IEE-F02HE|[FX3 &) LT AR R 9H0K)| F&RHE 12.3 16.2 5.7
28 |[IE -F02H (7557 SEEAT 1B(B)| A~ &E 12.8 10.9 6.0
29 |- FDZFE|I\1140> XY [HRMEFERH 18H () 9.4 6.1 38.7 6.3
30 [IE--En2FE[N\reSey @) [BLmEEBIRZFE | 2B0K)]| ~EE 10.4 | A%E 9.2
31 [IE-F0ZFE[ES5T (@) [FBLmLEiFRE 2B0K)] ~@HE 10.2 17.5 7.7
32 [UE-F0FE[LFIT RGN 15H(N) | A& 9.6 22.8 4.5
33 [E:-=DCE [LF57 BT R R 9B 0K)| F&RHE 11.5 20.4 5.4
3 [ :-=DCE |[LF5T HUmAElRE [ 10B0R)] A&E 10.5 | ~&E 9.2
35 [UE:-Z=DCE |[LFIT LT HEEI R [ 18H(R) 16.1 13.8 97.2 9.1
36 (=D |LFIT R ERFa = 2T 108CR)| ~&HE 12.8 ~EH 11.5
37 (- EDOCE [LF55 (kE) |ERRE= 28] TH(B)| A &E 11.0 ~EH 9.9
38 XK= | LSUYFIXT [&FENH 10H(KR)| A &HE 16.2 25.0 7.7
39 [ENiE NPEW LA ER TH(B)| A &E 12.1 | ~&E 10.7
MIEES kS 8L AT 1B A~&E 1M1.7 | F&E 10.7
AEES kS ELTERITZHEF | 24H(OK) [ A &HE 11.2 | ~&E 9.9
IVIEES kS BB LT AT 168 0K)| A&HE 11.9 | ~&E 10.5
43 |BE AES BB LT AT 9HOK)| FEH 10.0 | ~&E 9.0
AEES kS BB AT TH(B)| A &HE 11.5 | ~&HE 10.3
45 [RBE kS BB AT TH(B)| A &E 11.6 | ~&E 10.2
46 [RE kS BLHERE 9HOK)| FEH 7.5 | ~%H 9.1
NEEES kS HmUmhHEETsE [17THR)] T~%E 12.3 | *~&E 11.3
48 [RE kS BLHHE 3H(R)|] A~ gHE 6.7 | ~&H 8.0
49 [RBE kS BLHrE 3H(R)|] A~ gHE 6.3 | ~&H 7.6
50 [E=E kS LR THON)] R~ &HE 7.1 13.4 8.3
51 |RE kS L& EF TH(B)| A &HE 8.6 | & 7.7
YIEES kS —AWTH 15HCN) [ R~ &HE 11.5 | ~&E 10.2
53 |R=E RS WXEEER = [ BT 25H ()| et 14.0 7.5 6.6
AEES o4 BB LT AT 26H(K)[ A& 1.4 | ~&E 10.2
SEES o4 B L= A HH] 7H(B)] ~&HE 9.8 | & 8.8
56 |EZE o4 BB PR T 12B8(3)] A &E 6.7 | ~&H 8.3
57 |[&E=E FI4 L=t ESN] 26H (L) A& 8.3 | ABH 9.8
TIEES R BT = RijH] LH(R)] A~ gHE 13.3 12.3 5.9
59 |RE TIL—RU— BT =fHETEH | 2H0K) 29.4 7.8 164.0 7.7
60 [R=E 1X LTEEITZHE | 18H ()] ~&E 9.9 | F&H 8.9
61 |R=E 1X EBLL T AT 10HCR)| R~ &HE 1.4 | ~&E 10.1
62 |[RE 1X LT FESH] 1TTHCR) [ A&HE 9.6 | A& 8.5
63 |R=E 1X LT HET~E 8HCN)| A &RH 10.3 | ~&E 9.1
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REHR ¢ FRR8F11H1H (K) ~Fi28511H308 (k) (B 2 A 9blk/kg)
=i — = o REH | 4 RERAME| . RIERAE
== A73Y mHE PREN M (11|g) | BIn34 (b994134) 94137 (b994137)
64 |R= 1X BLmPHETSE [ 17THR)| A&RH 11.3 | & 10.1
65 |Zfth 59 BRI HEHET M [ 28H(B)| A&RH 11.5 | & 10.2
66 | Znfth 58 AL EHETEGR) | 9B OK)| AMRE 11.2 | A& 9.9
67 | ZDfth g ST HETARELR [ 15SHCN) | AR 13.0 | & 11.4
68 | Znfth g AR R EHET 4% 8HCN)| AR 13.1 | A& 11.3
69 |Znfth g BRI HPHEHET Mk [ 28H(B)| A&RH 11.7 | A& 10.4
70 |[Zofth EA LHEEH LFS S | 30H (k) 40.8 9.1 250.0 6.0
1| Z0ft EN HlLmzvEilsE | 17H(CK) 33.0 6.5 197.0 6.7
2 |Z0ft EN MLmEvBHTRE | 25H (£) 20.3 4.9 119.0 14.0
73 |Z0ft EN BRLimET e [21H(B)| A& 13.6 43.2 5.9
74 | Z0fth EN ARLrsArRaET e | 29H CX) 10.5 6.1 67.6 6.7
75 |Z0ft EN AR LU ] P EF 4H (&) 6.6 5.5 35.8 4.3
76 | ZDfth EN AR L ] P EF 4H () 9.6 6.9 79.7 4.7
7| Z0ft EN BRIl R | 18H(E)| ARE 13.9 37.6 6.0
78 | ZDfth EN ERLLmArE R | 18H(E)| ARE 12.7 22.2 5.6
79 |Zo0ft EN ERLLmArE R | 28H(B)| ARE 16.2 60.8 6.7
80 [Zofh EN ERLLmAmET R [ 10H (K)| AR 7.6 51.1 13.0
81 |Zofth EN ALmPHEEER | 1H(B)| fRE 7.9 12.0 6.5
82 |Zofth EN HLmHHETSE 7TH(H) 9.6 4.4 64.6 4.6
83 |Zofth EHN BLUm=FHE FFE| 9H (0K) 16.4 13.0 74.5 6.8
84 |Zofth BN B =FRHEET =R | 29H(N) | AR 12.7 28.5 5.5
85 |Zofh BN IETS! 1MH(E)| ARE 12.8 | & 11.5
86 |Zfih P MLmEBHT RS | 25H (&) 8.6 5.3 62.3 6.0
87 [Zofih AF (BEE)  |[BfLLh = HHET TH(R)| A& 10.2 | & 9.2
88 |Zofih F=2 BRI HPEHETHR)T | 9B OK) | AHRH 12.4 | & 11.0
89 [Zmfih 2 BRI EHETHGR)T | 9B OK) | AH&RH 12.1 | & 10.8
90 [Znfh 2 A= 28H(B)| AR 14.4 | &H 9.0
91 |Zfth T AR L EN B H] 2 TH(B)| A& 10.6 | A& 9.4
92 |Znfth T AR LT AT 26H(K)| A&RH 10.6 | A& 9.5
93 |Zfth T BRI A~ HT 28H(B)| AR 11.6 | A& 10.2
94 |H2BTFEEXK K (ZXXK) i 10H(KR)| A& 10.7 | & 9.5
95 |H2BFFEEXK K (BHX) EENEES ) TH(B)| A& 10.5 | & 9.3
9 [H27TEMmIEXK [K (BXK) ELmmEEIfERE [ 17TH(R)| FBRH 9.1 | A&l 8.3
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